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D!
D’

ξ =

ξ(S2)RING =ΜFWD(S2|S1) ξ(S1)RING

ξ(S1)BT →  ξ(S1)RING = U1ξ(S1)BT

ΜFWD(S2|S1) = U2-1ΜΒWD-1(S1|S2)U2 

U1 =
-1  0  0 
0 -1  0 
0  0  1

U2 =
 1  0  0 
0 -1  0 
0  0  1

convention of !
the sign of curvature

flight direction



ξ(S1)BT = (1.28, -2.44)(1) 

ξ(S1)RING = U1ξ(S1)BT"

                          = (-1.28, 2.44) 
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path length ( m )

Beta Functions, Phase Advances and B Field

!x Mthd1
!y Mthd1
#x Mthd1

Bz

U2ξ(S1)RING = (-1.28, -2.44) 

ΜΒWD-1(S1|S2) (-1.28, -2.44)!
=(0.57, -0.003)

ξ(S2)RING = (0.57, 0.003) 

S1

S1 S2

H- transport line

inside the main ring

(1) slightly changed from values used in SAD file 


